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1) a)

2) b)

© £9JA1 gebralcalclotherfPraniolclean up| |

136.5+t-¢ "1 tapc) Done
=t

s E(r(1)) [1-——]-

. solue[-a%(f‘(t.)) =0, t] t=18

= £(10) 40, 178794412

£<10>

DEOITES RAD ERACT FUNC 4730

E) F2 - Fyw 3 v
|vahlgerx‘a|CalcF]t.ﬁer|Pr-gnIGE1ean Up |

®solve(f(t)=37,1L)
t = 52705983552 or t =44.997552885

solve{f{(t>=37,.tD>

Harnin®:-More selutions maey exist

1 Fe F3v Fiy (13 Fev
1 aebralcatclother Pramiolc1ean up| |

B36.5+b-e % bt g(t) Done

m solve(a(@) = f(5) and 9(2)=38.4,{b cl)
b=3.0326532986 and c = .233?9291313

L. 2=F(5> and g<2>=38.4, {h.c>>

DROITES RAD EXACT FUHC ZH}‘O

IrTx Few Fav Y v 5 34
- ‘_"n_n ngebr\amgherTPr‘gn] Dll:l ean Upl |

#36.5+3.03-¢ * 23 Ly gty Done

msolve(f(L+5)-gl(t)=1,1t)
t=1.1511509676 or t =30.735773746

solve{F{t+5)—g{td=1.¢)

Harnind: Mers selutions may exist

b)

a2
. f(t
Ltrewy

2
. solue[-gtf(f‘(t)) =8, t.] t =28

s (r))[t =0 1

d{f<tr, t21t=0

DROITES KAD EXACT FUNC 7730

= solve| T(F(t)=0.¢
”{dt( )

S|t =0 1
S(rw)|t=20 -. 13533528324
s (re) |t =40 -. 83127303879

PROITES M! Eﬁ FUNC 5/30




